Imaginary and Complex Numbers, continued K&i
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Division with Complex Numbers |
+ To be considered “simplified”, fractions should not have square roots in the denominator.

» To getrid of square roots in the denominator we need to “rationalize the denominator” or
multiply both top and bottom by a root.
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What about something like oy ? 5-71 S P =
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Because the imaginary unit represents a square root, you must rationalize any denominator that contains
an imaginary unit.
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A complex conjugate pair has real parts that are equal and imaginary parts are opposites.
The compleX conjugate of any complex number a + bi is the complex number a - bi.

Example of a complex conjugate pair: QA

Write your answer in the form a + bi

sa My Sl PR e
4-2i H+7; |l -4 * =t 2x L{»L”
=% +30t -3_+30
——
sat S g Cyisit " st i bl oo
2-51 745 H»2‘Sc T 3-i 3L q i STy
»\3 M Z Tz
G zq - o«
7Zs X4
Simplify the numerator first: @
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What would a graph that has imaginary zeros/roots look like? U
Find the zeros/roots of each function using the quadratic formula:
y=2x%+10x + 26 y=x%+4x+12 y = 2x% + 6x + 10
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- Circle the equations of the graphs with imaginary zeros. Think about transformations of functions.
=y — 12)2

+ 1 —
/\ { P N N A,
12 ~\7 7'\;’"‘
%) g




Operations with Complex Numbers

ﬁ; ! Add or subtract. Write the result in the form a + bi.

1. 8-1)-(-5-4i) 2. (2-11)-(10+60)

4 (-6-N+(1+3i) 5. (-2-2i)+(8-6i)

Multiply or divide. Write the result in the form a + bi.
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Solve.

12. In a circuit, the voltage, V, is given by the formula V = /Z, where / is the
current and Z is the impedance. Both the current and impedance are
represented by complex numbers. Find the voltage if the current is 3 + 2i
and the impedance is 4 — |,



